
Page 9-2 2012 Precedent Illustrated Parts List

G

E

9

D

000491-001

7
4

9

10

12

2

3

11

5

6

1

8



E

G

9

2012 Precedent Illustrated Parts List Page 9-3

ITEM PART NO. DESCRIPTION

1    2    3    4

QTY

D

EXHAUST SYSTEM – FE350 (ALL)

1 1012528 Nut, M8-1.25 Hex ....................................................................................................................................... 2
2 1012830 Screw, M8-125 X 22 Hex-Head .............................................................................................................. 1
3 1013734 Lockwasher, 8mm Split ............................................................................................................................ 2
4 1015814 Bracket, Muffler Mounting ..................................................................................................................... 1
5 1016904 Gasket, Exhaust .......................................................................................................................................... 1
6 1017689 Clamp, 5" Muffler Hose ............................................................................................................................ 1
7 102585901 Exhaust System, FE350, Precedent ...................................................................................................... 1
8 1241 Washer, 5/16 Type A Flat ......................................................................................................................... 1
9 332 Washer, 1/4 Type A Narrow Flat ............................................................................................................ 2

10 451 Lockwasher, 1/4 Split ................................................................................................................................ 2
11 7174 Lockwasher, 5/16 Split ............................................................................................................................. 1
12 7847 Screw, 1/4-20 X 0.75 Hex-Head Cap .................................................................................................... 2


